I%#ﬁ%ﬂfﬁ AABRU T B AU TFEX FXHANEHNLREBEAXHHETEEE]

FEE -

QN

BB WA RBEBIL(BBEIRAL A BAMWT

5,000,000,000 M A& A% 1A {H 0.001 32 JT B9 H%

E BTN T FEAT > #E HAMRI 15 #E -

617,500,000 Ji& i e £ o7 A7 H B3 C AT I
(] KRR = AN 78470 R0
(AmEE] R I5 (4R 8= A T B 1|0 ik 0y
(mE] KBRBFIHEE S T RKM
(mE] KRB HEES TETHRMG

ECEINNECE 3

B¢ W 4 0 e AT - A ) AR A R A

5,000,000,000 A A A% 1A {6 0.001 3£ JC 19 B% 4y

E BT AT T FEAT > #E HNAMRI 15 #E -

617,500,000 Ji& i e f% o7 A7 H B E AT I
(RE] BKRBIHEEE THTH RN
(mE] WBE(HEEE T8RO KM
(mE] KBBF(HEE G T T RM
(RE] BKRBIEE S TETH RN
(4mEE] A48T 18 w7 247 09 i

ECE IR e g0

R =&

e

5,000,000

617,500
(4 5]
(4% 5]
[ 4 & ]
(4% 5]

EZED

e

5,000,000

617,500
(4% 5]
(4% 5]
(4% 5]
[#% 5]
(4% 5]

EZED

bR AR B R (AR ORI AR o NI S (a) IR [ 4 B ) AT T OAT BE %
AT B AT AT B 43 5 58 (b) AR U W B RE S ) 2 % sRT RE AR R AT e B HE AT 8 IR T E I

— 260 —



EAXHBAR BABFL T TR AU FEX FAXHANEHNLEREALI X HEFEEE]

B —GF & -

QN

B L B AT WA AT B AR 5 B (o) IR B AR T 5 S 9 AT s BB 0 R R — B RE O Atk o
o FAM AT AE B B K [ 69 AT T B A

b {7

FBe A J AS 2% W) AR TR i 3 R BB © 8 AT SO T AT 00 BT A B R B A O T
A (R A A > 0 R 58 2 A Oy BUR - AR R BOUR A R BT AR SO AR 2 TR O
B R ek H I B AR SCHE A2 1R8) » M2 B[ 4R 8L 1 BR 4b

EZE D

AR JBE RS [ AR B D78 8 R PR R R - 1 AN A R R 0 v AE R M A TR R AN A s I AR
O AR R[4 SR EE AT (AR B R AR o HE S BN A W) B R AR RO [ AR BE R
Ok MR B AR E R ) DL T (E S SO A SN 4R B o A BRI D R K B AT T
15 [ A B8] (B3 85 0] BE 45 7 19 HoAth B ) 72 36 IRF ) 45 ORI 44 310 A 0% ) e R 44 1 Y BEOR
7 12 8 55 4% H D R R AR 2\ B B R IR R L B C 98 K SR AT (R AT RE S B AR R L) o
MR (4R 8 DIF T 847 19 B A 0 1800 o 8 B A7 O T B B A 2 B AT Iy = A TR SF A e

BRESE

KMER —F-hFELATHHRMERE) SERBAEBEERSZHE 2
BECFC3E AS oy A B/ A AR AP F) R 2> BT A Y B ARR o AE R -

AN E 1170 45 A& 2 N % I I HE DA R I 155,538,420 I I 4y > (X BE (4R B E AL A
BB EHEEIMEEITHINEEERFEILFEITHUALAASAND #
TRAXEE) - BIFEEIBRES IV EEISENHEE IR D (EEHEHEE]
KImBEICHARFE(RE SR EETEATEY B ARG ARBEITH(BEITRRETH
AT B 3 DA B AR 05 [ 4 B ) S A BT B B 8 o nT BB B Y B B RE) A A FD BB AT A
KI[4mB1% - Z 4 (4B M [ 4m 85150 5L A0 [ 4% 8105 I A 19 A7 8 8 A 7 0.005 3% 0 £0.20
TC LA K B BE 4 B S 4R B 1 58 AR (1R % [ 4 B 1 M6 e 48 26 AT 0 0 HLOR R AR AT ([ 4R
0T B EEAT 09 AT AT B 0y DA S AR PR [ 4 BT 0 A RE BT B OB ST AR B R Y I B HE) (4R B
HEE 5 HE A 46 9 B AT fE A F0.0033E T £0.103 €0 o [FRBE VBN E 0 & Eh —
TELE+T HA=ZFTHE_F - HE=ZH=Z1+H 1704 KEANF 24 BT #EF
IS BENTERFRAGBAEEBRERERE > B163 %1 B KA -

— 261 —



EAXHBAR BABFL T TR AU FEX FAXHANEHNLEREALI X HEFEEE]

B —GF & -

QN

T A B AW PF IR A0 [ 4 BT BCRE R B o T (4R B ke RE St A 3 2R ROME At R AR
SO B 8k T (3% 72 B — MBCE R — 9. #m BE ) W I RE R ) — i -

TR -—REE

FEAXHET MBI — (R — (BEIOERE] TR RERRT  EH5C
TP — i S A0k 1F 52 R LA TG 5% - R AT J% R B BORT S At 5 B 00 Y R O O R RE - BRI
HE 8 SO DU R DL SR R B R SF WD 4 R R AR B At kBN BT e
T B AT B A% 55 HE R A JUIRE 5 ffE T G o (R R B O B BT (E > BRARGE LA R S DAL

(a) kA% 5

(b) A AT LA AR A 0 SR 4 A R G B A 3 DA AR A AR EAE AT AR 0 B B B B T
L% PF 5 5L

() [HRE] > AN13HM:

() EMmETHAAK > AN A C AT B A Z8 1w (E20% > A 65 [ 4R 8]
AR U5 W I BE ST ) B B 0 B RT BB B Y [ R BE O AT {0 AT BB BE AT AT o]
By s J

(i) AN AR E R SCTHE ] B 03 09 — M R | 2 6 Pr e 09 B ) B A0 — % 3 BE B
] (40 A7) A 2 &) B A 1) A8 T (B - b T 5 AT B4 09 — S ER RE A R R 51 IR ] (LA
B OB E A R JE T
(1) AT o B H K e &5 R ER

(2) AT AT 28 R A e R M A AN B R R M ZE B AT R I R A AR K & i
FE JiE J BRE 5 B

(3) BRI B R R & b A R I Pk S B S e e

AR — RN — LR 2 A B ik e — ER —1.F
Bl A% 24w A A R — RO (AR B R T R R

BERON-—RERE

TEN BN — (mE] — [(REIORM] — T BGRIERRT > &SRR K&
T AR A A RE DA AT A 2 W] — DD HE > T AR T (R R SRR (AR B (AR B e AR K

— 262 —



EAXHBAR BABFL T TR AU FEX FAXHANEHNLEREALI X HEFEEE]

B —GF & -

QN

1 2 88 A7 B A BT (B 10% 19 B A CHE S 6 356 DX A7 08 [ A B 1 28R 482 I A HE =t ) 2 32 obs s T
RE 43 th 1 M JBCHE T W] RE TG HE KR AT IO AT AT ) o

Wb — i 5 HE {8 DL AE T < i BB RT RE [ AR SR (S B0 b A R R e M SZ T R AT) MO AT:
] At 3 5 238 By T A AT Sl AR R BT AT IR R R A B R TR A AT R I A B e
B [ A B 1R R 0 AR S R AR ST M Bk L TR R M — ROCE R — 48 0 S ] S —

B T [ A7 P — A A S A B R R A I e

(i) FAM N i e AR A K B AR B

(ii) AT A7 72 i A AT Y A0 R B S AT ZH B AT T JeE RO AR K g B B0 T R
9

(iii) FBC SR M AR OK @ b 2 o 0 A PR R S TRE BB IR T 0 Rz AR R

AR — BN E - PN W2HAXERSE L EER —BREN — LA
Ay ] B A R — (Giv) B AR [ AR B R R T D e SR

— 263 —





